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TMoassysck Toxaecrsom a’ — b = (a + b) (@ — b), pasnomxuTs Ha

MHOMCHTEJTH:
1 1 2 1 1
1) a? -b2; 2) y? -1; 3) ad -b3;
1 1 1 1
4) x - y; 5) 4a? —b?; 6) 0,01mS% —nb.

PasnoxuTe Ha MHOMKHTENH, HCOOJBL3YA TOXZecTBO a® + b =
=(a +b) (a* - ab + b*) num a® - b* = (a - b) (a® + ab + b?):
1
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i 2) ¥ -y*; 3) a? —b?%; 4) 27a+c?.
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2+ b2 p2_ (2
qum_:.nn'rb:
1) 2¥5.2-%5; 2) g2V% ; 92, ) (5Y3)%3; 4) ((0,5)VF)VE.

Beruucaurs (69—71).

1) 23-3V5 .g¥5; 2) 31232 ; g¥7,
3) (51+J'2')1—J2; 4) (51—\/3)14»\/5 _(JE)O_
1) 21-2V2 . 42, 2) 82-348. 2748,
3) gl+V3 | gi-v3 | 3-2-‘/5; 4) 43+V2 | 21-v2 | 2-4-V2
102,‘/? ) 63+\/—5 !
92437 1447 92+V5 , g1+45 '
3) (251+-/§ _52\/5),5—1—2»/2; 4) (22J§ _4\/§—I)_2-2J§.
BrisicanTh, Kakoe u3 uucen Gosbme:
J3 Jz
1) 37 g 3969 2) (%) o (%) ;
3) 43 yam 4-V2, 4) 2V3 pam 217,

—

0 (1) mm(3)% o () w3

CpaBHHTbL YHCJIO C eZHHUIEH:

6
1) 272 2) (0,013)7%; 3) (%) : 4) 2713,
V3 J5-2 JE-3
5 2-5; 6 (2) ; 7)(4) : 8)(3) _
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